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MCR 3U Review Questions: Sequences and Series
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For each sequence, determine: | a) 4, 12, 36, ... b) 31, 20,9, ... A
The general term. _‘?\:a(n- _I_‘\: 0\-\_({\_[\4
b= x" L Bl
The recursive formula _l_,a;l/l) %nza,}n_, -l-' -:.%I) -)’n: "’n_l ‘“
(%) [he =1 kg <2109
Sy | =) g
~ 1%
=[5, 5Ho
SIS(SWVJ a*‘_ \,LQ\ %-L’(’bl‘é_‘) 6,5 :IS [}-’ ”lZi)
(ot S bem) | 31 -l
&, 7,47
ygmlj tm msw( other
hm 9%@

(b"’fﬁ/




2. An opera house has 27 seats in the first row, 34 seats in the second row;¥41 seats in the

third row, and so on. The last row has 181 seats.. AFI“\ {.,
a. How many seats are in the 10 row? meti\L
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b. How many rows of seats are in the opera house?
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3. Guy purchased a tmpf $820 2001. If the value of the stampNgcreases
per year, how mu thIth stamp be wo th 2010?
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a. + + +... - , 4 = n‘-
KA "\\W'("‘ S ( 5)
N AL —[22 = 123+G-1)
- ('zz=123~‘9;1+5
iz s 7

--—-q“ -ﬁ" Eyblz 5~ |
=iz
”\/ h 5 -1 M
I%’L9 2
ATl =3280 = G
. Deterr‘ﬂ"n{e the 100" term of the given sequence. Explain your reasoning. %
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6. The 7" term oquence is 3 and the 11t term is 48.

a. Determine the term without finding the general term.
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c. Determine the sum of the first 29 terms. l )
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7. The 7t termin an arithmetic sequence is 465 and the 13%" term is 219. &"M *"h\”
a. Determine the 100™ term without finding the general term.
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b. Defermine the general term.
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c. Determine the sum of the first 100 terms.
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